
BEARING   AND  DISTANCE  FROM  COORDINATES

From Point (A) To Point (B)

Xa         = 408536.67 Ya        = 1198634.53

Xb         = 408600.88 Yb        = 1198711.28

64.21 76.75

  Actual  Bearing   = 050 05 11 DISTANCE  = 100.07

From Point (A) To Point (B)

Xa         = 408600.88 Ya        = 1198711.28

Xb         = 408548.43 Yb        = 1198759.06

-52.45 47.77

  Actual  Bearing   = 137 40 18 DISTANCE  = 70.95

From Point (A) To Point (B)

Xa         = 408548.43 Ya        = 1198759.06

Xb         = 408485.82 Yb        = 1198682.11

-62.60 -76.94

  Actual  Bearing   = 230 52 05 DISTANCE  = 99.19

From Point (A) To Point (B)

Xa         = 408485.82 Ya        = 1198682.11

Xb         = 408536.67 Yb        = 1198634.53

50.85 -47.58

  Actual  Bearing   = 316 53 57 DISTANCE  = 69.64

From Point SGGA.A7843/2022/2 (A) To Point SGGA.J799/14/3 (B)

Xa         = 408600.88 Ya        = 1198711.28

Xb         = 374529.10 Yb        = 1155083.55

-34071.77 -43627.73

  Actual  Bearing   = 232 00 40 DISTANCE  = 55355.80

From Point SGGA.J799/14/4 (A) To Point SGGA.A7843/2022/1 (B)

Xa         = 374572.08 Ya        = 1155030.43

Xb         = 408536.67 Yb        = 1198634.53

33964.59 43604.10

  Actual  Bearing   = 052 05 01 DISTANCE  = 55271.25
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